Bellwork Alg2  Monday, February 24, 2020
1. Match each graph to its equation:
i. y=3(.8)* i. y=23(7) iii. y=8(7)*

iv. y=3(.3)* Vop=32)
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2. The number of a certain kind of bird in an area that is being developed has been decreasing 6.1%
every five years. The bird population in 2007 was 12,000. Write an exponential equation and find the bird
population in the following years:

a. 1997 b. 2020

3. Rationalize the denominator. Give answer in simplified radical form.
12a*b

3/16allb4

4. Use these functions: f{x) = x? - 3x glx) =x-2
a) Find flg(x)). Simplify if possible. b) Find g(A(5))
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2. The number of a certain kind of bird in an area that is being developed has been decreasing 6.1%
every five years. The bird population in 2007 was 12,000. Write an exponential equation and find the bird

population in the following years:
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3. Rationalize the denominator. Give answer in simplified radical form.
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4. Use these functions: f{x) = x? —3x glx)=x-2
a) Find flg(x)). Simplify if possible. b) Find g([(S))

L)z (5)% =5(=) T 2557=4
flgt) = (x=2* - 3(x-2)

= X RYn+Y —3xtb
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